MAOHMATIKA T I'YMNAXIOY

A.1S5AZEIOXHMEIQTEX TAYTOTHTEX

3°TYMNAZIO AIT'TOY

I[. 'INOMENO AGPOIXMATOX - AIA®OPAX

KA®HI'HTPIA: KAPATEQPT'OY IQANNA

< Twoépevo adBpoicpatog emi Srogopd: * a + B)(a — B) = a? — B2

Aoxknon 1: No vmoloyiceTe To TOPAKATO OVOTTYYLOTO:

a (x+y)(x—y) B. (x+1D(x—-1)
e 9—-y)O9+y) ot1. (5x —1)(5x + 1)

0.2-V3)(2+V3) . (V5x-1)(V5x+1)

Aoknon 2: Na kdvete Ti¢ npaéelc:
al-(Gx—-y)x+y) =

B.4+(x+7)(x—-7)=
v.1-3x2x-1)2x+1)—-Bx—-1)Bx+1) =
0.1—-(x—5x+5 —-2x—-1)?%=

e 2x>—(x—4)?-(x-2)2+x) =

Aoxknon 3: No anodei&ete OTL:
a(a—PRa+p)—Ra-)2a+p)+3a?>=0
B.al+a)a—1)—-(a—1)?—-a’=—-1—a(a—1)
v.(a+1D3(a—-1)-2a(a—D(a+1)=a*-1

v. (x+2)(x—2)

EC (7Tx—1)(7x+ 1)

0. (1—x)(1+x)
1. (V5 —V3)(V5 +3)

Aoxknon 4: No HeTOTPEYETE TO TOPAKATO KAAGULOTA, TTOL £X0VV APPNTOVS TAPOVOUAUCTES, GE KAAGLLOTOL LLE

pNTovG TOPOVOLACTEG:

17 6 6
T 1-3+2 ' 3v2-6



